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ility of PSK.
rvith signal

ofQPSK

(10 Marks)
diagram, With a neat diagram. explain the

(10 NIarks)

FSK (10 Marks)
(05 Marks)
(05 Marks)001 1

Module-4
7 a. With a neat diagram. explain the digital PAM transmission through band limited channels.

(08 NIarks)

b. Explain sipal design for band lirnited sigrals rvith controlled ISI (parlial response signals).

n
1of 2

(12 Marks)

USN 18EC6r

Sixth Semester B.E. Degree Dec.2023/Jan.2024



8a.
b.

9a.
b.

10 a.

b.

c

,1.i,".

ffi'

&drR&

T

2 of 2

of CDMA based IS-95. (12 Nlarks)

at the intended receiver is 10r. If
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(10 Marks)

(10 Marks)
(10 Marks)

value of its
(03 Marks)
(05 Marks)

and reverse link
power ratio Pn/PN



s
&

USN

o
O

o
c3

c.
.i
E

a3

o
63o

6=

g--

;ltroo
.:N
63$

Yu
otr
-o

?a

a:

u0)

botr
d.d

"o
26
6-

'Ed

ia
or:

or!o:

tsodLe
.ec
LO

O .=
>,!
EO"
cco
a=

EI
O

(-) <
- c.l

O
oz
cd

A
E

Time

1 a. Explain the architecture of

b. Explain Thumb 2 techno
c. Explain ARM Cortex

2 a. What is stack?
cortex M3 with

b. Explain the
diagram.

c. Describe diagram.

3a. following
i) ASR ii) sxrH

b. Write on ALP to add
c. Write note on barrier

4 a. Analyse the fo instruction contents

b. Write the RISC and CISC processors.

c. Compare the of Bluetooth and lnfrared.

of neat block diagram.
(10 Marks)
(05 Marks)
(05 Marks)

and POP instructions in ARM
(06 Marks)

cortex M3 process with a neat transition
(08 Marks)
(06 Marks)

(08 Marks)
(06 Marks)
(06 Marks)

after the execution of
(08 Marks)

(06 Marks)
and store the

(06 Marks)

(08 Marks)
(06 Marks)
(06 Marks)

(08 Marks)
(06 Marks)
(06 Marks)

OR
stack operations

5

6
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Max. Marks: 100

module.

b.

c.

s

ONE full

,, ,ir]: i

using PUSH

*W
s

b.

c. Explain the sequence of Zigbee and Wi, Fi network.

OR
for communicating with I2C slave device.



Module-4
7 a. What is hardware, Software co-design? Explain

co-design.
b. What is non-operational quality

Embedded system design.
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issues in hardware software
(10 Marks)

the important non-operational any
(10 Marks)

+t '"". .f
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8

9

a.

b.

a.

b.

Explain high level language
advantages of this technique.
What is operational quality Explain the

firmware technique. List the
(10 Marks)

quality attributes to

10a

b.
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Module-5

are the different functions handled by real-time Kernel? (10 Marks)
process IDs Pl, with estimated completion time 6, 8, 2

enter the together. A new process P4 with estimated
4ms enters the ' after 1ms. Assume all the process contains

only and no I/O are involved. Calculate the waiting time and Turn
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1a.

b.

2a.

b.

co-efficient

3 a. State and explain the
b. With neat

attenuator.

4 a. Write

b.
its

(06 Marks)

(10 Marks)
tlpe variable

(10 Marks)

Tee
(10 Marks)

directional coupler and derive
(10 NIarks)

expressions of characteristic
Module-3
striplines, also list the

"'.,""

''rt)illlrrrr$L l

a.""f',"DiscusS the
impedance,

b. With the
c.A

of micro-

of a two hole

5

separating two
d = 4mn! Calculate:
r) The width W,
ii) The strip * line

and (08 Marks)

co-planar strip lines. (06 Nlarks)

strip line a conducting strip width W. The substrate dielectric
has a relative dielectric constant trd: 6 and a thickness

:50f)
e

iiD The strip - line inductance.

I

I of2

(06 Marks)
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(05 Marks)
(05 Marks)

sources with
(10 Marks)
(10 Marks)

(10 Marks)
(10 Marks)

(10 Marks)
(06 Marks)
(04 Marks)

(08 Marks)

(06 Marks)
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I a. Explain the principle of Klystron. (08 N{arks)

Repeller space: lmm forb. A Reflex Klystron operates with beam voltage

ltage for a beam current of 1SmA.

(06 Marks)
(06 Marks)

s-

and receiving antenna with gain of 15dBi at 2.45 GHz are

of 3km. If the transmitted power is 20W, then calculate the received

iil -
,{. \-,,,,,,,,,i'

3CI,0v,

2

3

4

5

l3/mode. Calculate

c. Explain Microwave

c. Two
separated by a
powef. Ii ,,,,:,,,,

f -..::r*,

.*'.1 tr:'"

I of2
(08 Marks)

c.

6a.

of them.

OR
and transmission coefficient of a transmission line. Derive and

(08 NIarks)

b.

(08 Marks)

(06 Marks)
(06 Marks)



Module-4
7 a. Find the directivity of an antenna whose radiation is given by

U : U,. cosa o Sin2 $ 0=er% 0<0
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(06 Marks)

point sources of same amplitude
(08 Marks)

5 and

b. Derive an expression for the field pattern

(,

b
C.

a. Derive an
b. A Coaxial

B_
appro gain of the horn

c.A dish antenna
Find i) HPBW ii) FNB iii)

8a

9

10 a.

b

(06 Marks)

with equal
(08 Marks)

(08 Marks)
(04 Marks)

for far field small loop antenna. (08 Marks)
horn antenna igned at 915 MHz with aperture A : 50cm and

length from neck 27.5cm. Assuming efficiency of 72%. Flrlrd
(06 Marks)

gain of 5 Hz with 70% efficiency.
(06 N'Iarks)

(06 Marks)
is to be to operate in axial mode

helix ii) Minimurn
(08 Nlarks)

antenna of 0.32m , Operating at lMHz.
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Max. Marks: 100Time: 3 hrs.

Note: Answer any FIYE full questions, ONE full

la.
b.

c

2a.
b.

c.

3a.

b.

c.

question lrom each module.
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(08 Marks)
(06 Marks)

4 a. A slotted ALO
bandwidth. throughput if

1000 sec

Wrttp a note on

(06 Marks)

(04 Marks)
(08 Marks)
(08 Marks)

(06 Marks)
(06 Marks)
(08 Marks)

channel with a 200kbps

(06 Marks)
(06 Marks)
(08 Marks)

(10 Marks)
(10 Marks)

(10 Marks)
(10 Marks)

connection
(10 Marks)
(10 Marks)

ti

using.a5hared

sec

i)
ii)
iii)

ss LAN?
inB

frames
produce

4I'

b.
c.

5

6

7

f t Y

I of2

the function of
of

multicast and from the following MAC addresses.

10:21:10:1Ai)
ir) 1B:28:08:EF

in

b. Discuss the distance algorithm with example.

b.



OR
8 a. Discuss the TCP segment format.

b. The following is the content of UDP reader in
Find:
i) What
ir) What
iil) What
iv) What
v) Is the

9 a. What are the data flow
b. Explain the priority diagram.
c. Illustrate the simple leakey algorithmwith

if

10 a. Explain the
OR

wide web.

18T863

(10 Marks)
format C884000D001C00 1C.

(10 Marks)

(04 Marks)
(08 Marks)
(08 Marks)

(10 Marks)
(10 Marks)
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b. Write the basic FTP and explain.
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3

OR
4 a. Write a Python program to accept the file from the user add :

i) Display the first N-lines of the file
ii) Find the frequency of occurrence of the word accepted from the user in the file

(10 Nlarks)
b. Develop a Python program to search for the line that starts with the word "From" in a file.

(05 Marks)

c. Explain 'for' loop with necessary syntax. Write a program to compute the factorial of a

number accepted from the user. (05 Nlarks)
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c.
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5 a.

b.

a.

b.

c.

6
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a. Diffei'enXiate

r$;,ry1,1,

4tN*"

;ileVelop7 between and modifier a Python program to find duration

8

,r::rifi];i$' 2 of3

,rJk,

sm$-"
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18EC646
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iii) tuple assignment.
a program using lists to

: : ::: (08 Marks)

Explain,th e fo llowin g op erations in,,,,tup I e

tf

(06 NIarks)

integers accepts fi"om the
(06 N{arks)

,ll' ,ri,,.

display the average of N



9a.
b.

Make use of an example

Explain any two socket
web ser,rer and follows
server sends back.

c. What is service oriented

10 a.

b.

C.

Create a simple
database of them.
With necessary
architecture.
Compare the Javascript object Nptation

(08 Marks)
(JSON) and XML. (04 Marks)
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